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Solutions

$1. Ans.(c)
Sol.

1
¥ - —work — 6da
4th ys

Whole work — 24 days

3th
y — e work — 12 days whole work = 16 days

x & y will complete the whole work is

_ 1 N 1
24 16
24+ 16

= —
24 x 16
40

= —
24 x 16
5

= —
48
48

Days required = -

—gl
—Qsdays

S2. Ans.(c)
Sol.

(2M + 3B) x 10 = (3M + 2B) x 8
20M + 30B = 24M + 16B

4M = 14B

M=_B

? ENGLISH
2M +3B=2 X B+ 3B = 10B

2M+1B=2x-B+1B= 8B
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S$3. Ans.(c)

Sol.
—LC:\_& Efficiency
(Total Work)
A— 2 3
6
B— 6 1

Work done by Ain 1 hour=3
Remaining work=6-3=3
Efficiencyof AR B=3+1=4

Time required by A & B to till the tank

3
= — hours
4

3
= — ¥ 60 min
4

= 45 min
The tank will be full at 11 : 45 am

S4. Ans.(c)

Sol. Distance travelled = 8 x 2ntr
16mr = Speed x Time

16mr = Speed x g

Increased Radius = 10r

Distance to be travelled = 2t x 10r
=20mr

20mr = Speed x Time

16mr X 60
20mr = — X Time
40
800
Time = hours
16 X 60
50

= — hours = 50 minutes
60

$5. Ans.(c)

Sol. Area x cost=7700
22 1
—xrfx—=7700

7 2
rF=7=x7x10x 10
r=70m
Perimeter = 2mr

22
=2x—x70

7
=440 m
Cost =440 = 1.20
=528 Rs
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$6. Ans.(b)

Sol.
27km = ]
R
Py Q
24km/ hr I8km/hr
They will meet after = % - ; hours
R= 2 X 18
QR=3
=81 km
S$7.Ans.(a)
Sol.

33% — 165 crores

Income From others = 67%
1% = 5 crore

670 = 335 crore

$8. Ans.(c)

Sol.

100% — 733 crore
Income tax + Excise duty
=10% + 35% =45%

1 — 7.33 crore

459% =45 x 7.33 crore

= 329.85 crore

S9. Ans.(a)

Sol.

Number — 3x, 4x
LCM = 12x = 240
x=20

Smaller number = 60

SSC CGL TIER-II

$10. Ans.(d)
Sol PRIME
X 4 x 5 20
12 9 60 85+ Total Tests
v 15 Tier Il Quant Previous Years’ Papers
M = E v 14 Tier Il English Previous Years’ Papers
36 3 v 20 Advance Maths for TIER-II
> _ 7 v 20 SSC CGL Tier Il Quantitative Aptitude
36 3 v 20 SSC CGL Tier Il English Language

x=12 km BILINGUAL
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S$11. Ans.(b)
Sol. ATQ,

1 1
1)<2x+i><3x+zx4x=216

3x
2x+?+x= 216

Ox

— =216
2

x=48

Number of 50 paise coin =48 = 3 = 144

$12. Ans.(c)
Sol.

Quantity of water is given mixture =

o=

. . . 2
Quantity of water in resultant mixture = -

Using Alligation

3:1
3r — 45 litres
1r — 15 litres

$13. Ans.(a)

Sol. Profit’s Ratio = 4500 x 12 : 3000 x x

=54:3x
=18:x
18_2

x 1
¥ =9 months

B joined after = 12 - 9 = 3 months

S$14. Ans.(d)

Sol. ATQ,
1 1 1

12+15 x
1 1
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$15. Ans.(c)

Sol.
Work done by 12 men in 6 days =i =§
Remaining work = 1 —%:%
16 xd
12 %18 =
2/3

12X 15 % 2
———— =days

16 % 3
9 =days

Work gets completed in =9 + 6 = 15 days

$16. Ans.(d)
Sol.
ATQ,

30 30 9

$17. Ans.(c)

Sol.

a+h=153

axb=630x9
(a-b)*=(a+hb)?-4ab
(a-b)*=(153)°-4%630x9
(a-b)*=23409 - 22680

(a-b)*=729

a-b=27

$18. Ans.(a) adda a4

Sol. ‘l test series

S5

=2 (@) 5SC CGL TIER-I
Ss =120 sy - QUANT & ENGLISH
5:=120-8=112 COMBO

Sum of four members 8 yearsago=112-4x 8

=112-32 40 TOTAL TEST

=80 20 Quant Full Length Mocks
Average at the time of the birth of youngest « 20 English Full Length Mocks
Member = % =20 years
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$19. Ans.(b)
Sol.

— 40
Profit 0 = 520 ®* 100
_ 400
- 96

$20. Ans.(c)
Sol.

Profits Ratio

=35000 x12:20000 =5:15000 =7
=420:100: 105
=84:20:21

B's profit = 84125 x %
=673 =20

= 13460

$21. Ans.(a)
Sol.

M+W+B 3 6
M 6 18
B 18 1

Efficiency of women
=6-3-1=2

Women alone will take = % =9 days

S$22. Ans.(b)
Sol.
[A+B)s2 dayw&rk=§x 2=

| ra

A+B's2dayswork=1—

| |k

B's 2 days work =

| e
Ll | e

B's 1 day work =§
B will take — 6 days

6 I www.bankersadda.com

www.sscadda.com

www.careerpower.in

www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/

$23. Ans.(a)

Sol.

A 12 3
36

B 18 2

A+ B's 2days work=75
A+ B's 4 days work =35

A will complete 1 work is = gda}rs

Total time = 111‘l =%
3 3

S24. Ans.(d)
Sol.

8x 12M =4 X 48W = 10 X 24B
1M:2w,w:§B
1M =3B, B =W

2 5

10M + 4W + 10B
=25B+5B + 10B

=40B
10 x 24 = 40B X days
days =6
$25. Ans.(b)
Sol.
B=-2A
100
A:B=5:8
(Efficiency)
1
Efficiency o —
Time
Time taken Ratioof A: B
=8:5
8 ratio — 12 days : AN
1 ratio —+ 12/8 days ‘ ; publications
5 ratio — 60/8 days
Time taken by B = 60/8 SSC ADVANCE MATHS
=7t
= 73 days CRACKER COMBO 2019
$26. Ans.(d) 3 Printed Edition Books
Sol. CRACKER-GEOMETRY
9 X7 X15=6X9 X days MENSURATION

ALGEBRA

days = 32—5 days
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S$27. Ans.(b)
Sol.

1 Women 1 days work= -
12x162

1
ls2

12 Women 1 day work=

1 Men 1 day work=
18%72

_ 1
1Bx72 18«18

4 Men's 1 days work =

1 Children =

9 360

10 Children's 1 day work= 0 _

9x360  9x36

. .1 1,1
Required time= T + = + -
_2+14+1 4
324 324
_ 1
81
= 81 days
$28. Ans.(d)

Sol.

10W x 8=10C x 12

w=2c

10 % 12 = 12 Children x days

days = 10 days

$29. Ans.(b)

Sol.

A — 8 3
24

B— 12 2

1 . 1 4 1 _'l

g8 12 C 4

1 _ 1

c 24

C—24

A:B:C

_1 1 1

8 12 24

=3:2:1

C's share = 4500 x ;—

= Rs. 750

1
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$30. Ans.(b)

Sol.

Ratio of water of A, B, C
2 6X5:4X6:9xX4

=30:24:36 ° TEST SERIES
=5:4:6

A's share = 1800 x 15—5

= 600 Rs. SSC Prime

850+ Test 12 Months
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